Review of Atomic Theory / Periodic Table / Bonding

1. What main contribution did each of the following scientists make? Match!

a) Dalton_ 2 X Electron dot diagrams show valence ¢’

b) Thompson © ) }/Each element has a unique atom

¢)  Rutherford 5 ,3/ Electrons travel in discreet orbits

d) Bohr__3 A Elements can be arranged periodically

€)  Schrodinger ,5/ The atom has a dense nucleus

f) Mendeleev ‘_’f y 4 Discovery of the electron “Plum pudding”

g) Lewis_ [ /. Orbits are areas of space where there

is a high probability of finding an electron

2. Give the number of protons, neutrons and electrons in the following:

[ ) Isotope ~ Protons ' ~ Neutrons - Electrons
THE 13 105 &9
209pg 2+ g4 EXs g 2
243Am 95~ (4§ 95
3. Give the nuclear notation of the following:

Isotbire ] Protons Neutrons Electrons
1@ Mo 37 42 54 39
74 (he. 32 42 32
RS 3
Ha 3f 108 157 105

4. What is meant by an orbital or energy level in Schrédinger’s quantum model?

Areas of Space Wrepre Hore \+‘§- A \’\\IC&VV
pmtouxla'\\l\tx ok de\m% an  gleckpon .
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5. Using the Energy Level Diagram for Many Electron Atoms give the electron configuration -
for each of the following: (You may use core notation) ( )

si [ Ne] 39 3p?

o [ AclHe adh

Mg [ \\\Q‘k

B [ Ac)He 240 et

6. As you move from left to right in the third period of the periodic table, what happens to the
atomic radius of the elements. Explain why this happens.

foctis dlecreases mire pt i nuclews adract
more ¢~

7.  What happens to atomic radius as you move down a column? Explain why this happens

It inereases as e Ll higﬁw’ LheAGHY Cone S

8.  For each of the following pairs , circle the one with the larger radius: O
Mg B @ Ne éﬁ) @_Si, @Li

9. What is the difference between electronegitivity and ionization energy?

Eleefrondac Boen IS Y Z’endancg vy A ﬁ‘fﬂcﬁ@
foniza ﬁ@ruf_/ng_.:rmj s W!’g’f{j MCﬁuf'r\w{ w

10. For¥ach of the following pairs , circle the one which is most electronegative:

(Be/@ @}In, He© Pb(Si) Cs(Py) Au fe)

11. What happens to ionization energy as you move down a vertical column? Explain why this
happens

It oereades bedaccas alomyg ar< 6/gg/?r Y3
0 are further o tuwe pud of tha nucteced

12. What happens to ionization energy as you move across a period from left to right? Explain
why this happens.

( inereases baceuxds aomd gzw Smcr ( (A
and qukew ¢ are dlosor & ol pu,c&
0C (e rnulles
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13. For each of the following pairs, circle the one which is more reactive:

Ca @Ag, SelO/ Née/) @}Ia At@ Br/Kr, Si@ c@

14. Explain what happens in an ionjc bond vs. a covalent bond.

snies pondl: e are tfrans Cerred ool
/ff;re%’% /2(9 . nNon-MLtal. 7The resulting ¢ and — (RS
athract. In oo Covalent bs-nd, ¢ o re® Shaa r< o

- Lk
I5. Draw Lewis Sfr\u&‘l.lreg(am%trgr\l-&c%’ diaégrgr\n%%r tﬁa% owir%%mm: OCJTQ e
{2 marks)

a)' ?a.th ) Jf - b)AIF; [_ F] o
LE] o el A (]

16. Draw Lewis Structures (Electron-dot diagrams) for the following diatomic elements or
covalent compounds:

a) 0 b) CH,
. , d
O =0 w—CL—
' l
H
¢) CCly d) N:Bry .
in\‘. b
[ \\. S s \ Lt f
1@8#‘0_9,\. “6(J—(\l--(t\{-‘€>f‘
. o {
e \
I :%(\
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